asym_usl

asym_dsl

asym_usr

asym_dsr

: —70c
15000
—60(
10000
—{50¢
5000
40
o
-5000 |
10000
15000 [~
n ||||||||||||||||||||||||||||||||||||||||.||||||||

50 -40 -30 -20 -10 0 10 20 30 40
diff_bpm4aX/um

15000

10000

5000

=5000

10000

15000 L

50 -40 30 =20 <10 O 10 20 30 40
diff_bpmdax/um

G000 —
- —{25¢
4000
B — 200
2000 —
of 150
-2000 100
4000 —
B 500
-6000 u
B [ |
NEFEETERTRTERNENIRNININNINAININAINRTARIRTARIRRIRY. 0
50 40 30 =20 =10 O 10 20 30 40
diff_bpmdaXium
d.
8000 — —{a5(
5000
- 30
. B | W |
apoo— ™
- —{25(
2000
ﬂ:_ 200
~2000 | 15¢
-mnn:— 100
-6000 |-
- [ | ROL
-EH}DD_— N
11 TENTETERTENINEIRIRRIN A IRENE IRR A RENTA RENRI AT

run3342 000 resression-a

2l'eSSlOIl"’“””ﬂSVll'l main

B —
- " . —50
15000 F m
10000 [ —40¢
5000
B 300
or
5000 |- 20¢
10000 - -
N u
15000 [
B | 1 11 | 1 11 | 111 | 111 | 111 | 1 11 | 1 11 | 1 1 0
B0 60 40 20 0 20 40 60
diff_bpm4a'/um
diff
B —
15000 W
- —{50(
10000 |
5000 A0
or
~5000 |-
10000
N u
15000 [~ .
B | 111 | 11 1 | 11 1 | L1 1 | 11 1 | 11 1 | 111 | 11

—EH} -60 40 =20 1] 20 40 60
diff_bpmda¥/um

"-"1

- W
.
15000 | ] —[0e
10000
- —40(
5000
- 30
e
~5000 :— 200
10000
- 10(
15000 |-
1111 | L 111 | L 111 | 1 111 | L 111 | 1 111 | 1 111 | 11 0
200 -150 -100 -50 O 50 100 150
diff_bpm4aX/um
diff _
15000 :— [ ] - —500
10000
- —40(
5000
- 30
e
~5000 | 20
10000 |
- J 100
15000 -
_I 111 | 1 111 | 1 111 | 1111 | 1111 | 1L 111 | 1L 111 | 11

=200 =150 =100 =50 1] 50 100 150
diff_bpmdaX/um

d

iff bpmd4eX
: . ™
—25(
B000 — G000 — u
B —30( B i
4000 4000
N —25( - — 200
B u B
2000 — 2000 —
. —{200 .
or o
- 150 -
2000 — 2000 —
i 100 i
4000 — 4000 —
_ 50( _
=g000 — =g000 —
B [ | B [ |
vl bvv oo b b g b bvvn b 0 v b bovra v b s b s bvvna by 0
80 B0 40 <20 1] 20 40 a0 200 =180 =100 =50 1] 50 100 180
difi_hpmdaYium difi_bpmdaX/um
d. d.
8000 - —451 8000 — —130(
6000 [ —anc 6000 [
= = —25(
. N [ | | N [ N |
4000 — o —35¢ 4p00 - ™
2000 —{30¢ 2000 | 200
= 28( ol
B B 15L
~2000 |- 20¢ ~2000 |
_ap00 [ 150 _a000 [ 100
~6000 |- 1ot -6000 |-
: : - 50
-B000 [~ u =0 ~8000 [ |
_|||||||||||||||||||_|_||||||||||| B

B0 -B0 40

detvs diff ‘bpm:=€

15000

10000

5000

= 5000

10000

15000

diff _bpmdeY

II|IIII|IIII|IIII|IIII|IIIIFITII|

—35(

—25(

200

15(

100

500

diff
15000

10000

5000

=5000
10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 -20 =10 0 10 20 30
diff_bom4eY/um

—35(

—25(

91

4000

2000

= 2000

=4000

= G000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

=30 =20 =10 1] 10 20 30
diff_bpmdaY/um

hpmélcY

—25(

— 200

—{15(

100

500

diff
8000
G000

4000

2000

= 2000
=4000
= G000

=B000

I_IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

30 -20  -10 0 10 20 30
diff_bpmdeY/um

hpméleY

—25(

—200

150

100

500

-
N

-30 -20) -10

“postpan.png

15000

10000

5000

~5000

10000

15000

|||I||||I||||I||||I||||.I.|

_200  -100 0 100 200
diff_bpm12X/um

:

°1

— 700

15000

10000

5000

=5000

10000

18000 L

=
IIIIIIIIIIIIIIIII|IIII|IIII|IIII|III

AN A T T T T T T N M B
=200 =100 0 100 200
diff_bpm12Xium

:

:
:

400

6000
—35(

4000

2000 -

= 2000

~4000

= 6000
[ |

AN I T T I T T N N A 0
200 =100 (1] 100 200
diff_bom12Xium

=
IIIIIIIIII|III|III|III|III|II

:

d'
8000
6000

4000

2000

= 2000

=4000

= 6000

~8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIII

tv v v b v P Py 1
=300 =200 =100 (1] 100 200
diff_bpm12X/um




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run3342 000 re

2000

1500

1000

500

=500

=1000

=1500

=2000

-2500

TI|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|H

—25(

=200

15(

100

500

50 -40 -30 -20 -10 © 10 20 30 40
diff_bpm4aX/um

91

EﬂDD

1500

1000

500

-500

=1000

=1500

-.

=2000

-2500

TI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

—35(

—25(

150

100

500

50 -40 30 =20 <10 O 10 20 30 40
diff_bpmdax/um

1000

500

-500

=1000

=1500

=2000

—25(

— 200

—15(

100

500

50 -40 -30 -20 10 0 10 20 30 40
diff_bpmdaX/um

1500

1000

500

1]

=500

=1000

=1500

=2000

-2500 IIIIIIlIIIIlIII” III|IIII|IIH|IIII|IIII|H

—25(

—200

15(

100

500

—Eﬂ -40 =30 =20 -1 o 10 20 30 40

oression-reg maindet-vs

2000 2000
u - —{25(
1500 - —25t 1500
1000 F —3nc 1000 —|znc
500 F 500 F
- —{25( -
o o 150
-500 | ~500
-1000 15( ~1000 | 10(
~1500 10€ ~1500 |
~2000 & ~2000 =0t
- 500 -
~2500 -2500
_Il 11 I| 11 I| 11 I| L1 I| L 11 |I 11 |I 11 |I | ﬂ NN I|I III| L1111 |II II|I 111 |III I|I III| 11 ﬂ
B0 -60 -40 -20 0 20 40 6D ~200 =150 -100 =50 O 50 100 150
diff_bpmdaYium diff bpmdeXium
2000 :— —apc 2000 :—
- - —{25(
1500 | - 1500 |
1000 1000
- —30c - —20(
00 = 00
- —35( -
Iy 1 oy
u - 15(
~500 | ~500
-1000 -1000 - 100
_1500:— 10 —1EDD:—
2000 _2000 20
" .l 500 ~ [ |
~2500 u ~2500 "»
_Il [ | I| L1 I| L1 I| L1 I| L1 1 |I L1 |I L1 |I | ﬂ L1 I|I III| L1111 |II II|I L1 |III I|I III| (I | ﬂ
B0 -0 -40 -20 0 20 40 6D ~200 -150 -100 -50 O 50 100 150
diff bpmdaYium diff bpmdaX/um
15|:m — 1500 —
N N —18(
1000 —{z25¢( 1000
N N —{16¢
500 :— oo 500 :— —{14(
N N —{12(
o o
- . 15( n 100
~ 500 - =500 =
C C a0
C m [ ] 10( B
~1000 — ~1000 [~ BOC
B | [ | B
- n - - 40(
~1500 [~ - 20( ~1500 [~
i [ | N [ | 200
2000 5 1 bl bbb g L 0 2000 5 i b b b b b 0
B0 -0 -40 -20 0 20 40 6D ~200 -180 -100 -50 O 50 100 150
diff bpmdaYium diff bpmdeXium
- l
- _ - _
- —|asc - 24(
1500 1500 |- o
N [ | — N |
1000 " S0 1000 200
- - —18¢
500 —{25( 500
N N —1&(
o o 14(
" : 120
500 F -500 |
- 15( - 100
-1000 -1000
- = - B0
N 100 N
-1500 -1500 BOC
- L -
C " C 40(
~2000 [ = 50 ~2000 |-
- u - 30(
-EEDD'T 111 Lol i L¢| cloa ol |||| || ] = 2500 7

dift

III LLII I|I III| 111 I|II II|I
- 11}0 -5 5@
iff |

diff

2000

1500

1000

500

=500

=1000

=1500

= 2000

- 2500

—25(

— 200

150

100

500

30 -20 =10 0 10 20 30
diff_bom4eY/um

91

-500

=1000

= 1500

"

= 2000

= 2500

—25(

—(200

15(

100

500

=30 =20 =10 1] 10 20 30
diff_bpmdaY/um

diff

hpmélcY

1500

1000

500

-500

= 1000

=1500

= 2000

— 200

—{18(

—(16(

—14(

120

100

80C

600

400

200

30 -20  -10 0 10 20 30
diff_bpmdeY/um

diff _bpmdeY

1000

500

1]

-i

=500

= 1000

=1500

= 2000

-2500 | |II III 111 I|I 111 |II II| 111 I|I III|

—25(

—(20(

150

100

500

-30 -20)

-~ postpan:png

=500

=1000

=1500

= 2000

-2500

B S0C

:

°1

1 1 1 | 1 1 1 II | I .| I| 1 1 1 I| 1 1 1 II | ﬂ
_200  -100 0 100 200
diff_bpm12X/um

2000 :—
= —45(
1500
- —4n(
1000 |
- —35(
500
: —30(
o
~500
~1000
- 15(
~1500
- 10C
~2000
- . 50(
-2500 u
C 1111 |I | I .| II 1 1 1 | 11 1 1 | L1 1 1 I | ﬂ
300 ~200 -100 0 100 200
diff_bpm12X/um
d '
1500 |- —35¢
1000 [ —30t
500 | —25¢
of
500 |
~1000 |- 100
~1500 |- sor
- I I S AR AR AN B AN AN AN B BN A B A A 0
300 ~200 -100 0 100 200
diff_bpm12X/um
-
n —l4ni
1500
1000 P
500 —30(
0 f— —35(
~500 |
~1000
~1500 100
~2000 |
B |
: . 50(
_EEGU :1 1 1 1 |I | I | I | I .| I| | I T | |I | I .| I | ﬂ
300 _200 100 0 100 200

diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

run3342 000 regression asym main

diff _

- indf  624.2/16
15000 |- -

: 17 p0  2.773+2.435
10000 +|ka

; , o1 -339.4+ 0.9

[ ",
5000 [ .

of \

-5000 | t:*m

- e
10000 | frye

; L
15[:":]':' 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1

~40 20 0 20 40

diff_

- — 5
somb - 2 /ndf 5403716

: A p0  2.968 +2.242
10000 |- +|]%1

: ; o1 ~322.8+08

i “h,
s000 .,

o \

-5000 [ H’nﬁ

[ *rki-

[ t
10000 [~ #

| .

1 | | 11 | | | | | | 1 | | | | | 1 | |

~40 20 0 20 a0

¥= [ ndf 1236 /16

p0 —0.8163 £ 3.3117

p1 23.67 £1.30
1000 | I L
- +
- +
o el
N +
~1000 F H *
2000 W}‘] ]l -
-3000 { } i
_4000 |- )
I T A TN TR TR A NN TN TN AN TR TN S N NN M B A
40 “20 0 20 40
diff_bpm4aX
5000 -
| %</ ndf 1248 /16
wool- _{‘ PO —0.4378 + 3.2041
! - + o1 ~131+13
2000 |- +HA|
i #a,
ol ....,,____
i N
= !
2000 |- i
_ it
~4000 {
I_ | 1 | | | | | | 1 | | | | | 1 | |

S %2 /ndf  989.3/15
15000 [~ -
S p0 8.59 + 4.18
10000 H#
- Ty p1 1624+ 1.0
5000 H’tﬂ
o \
~5000 | 1"’1
N W
10000 ;— #mﬂ _
15000 2 H b
(11 | 1 11 I 1 11 | 1 1 1 I 1 11 | 1 11 | 1 11 | 1 1 1 | 111
B0 -0 -40 -20 O 20 40 B0
diff
s . ¥2/ndf  930.9/15
i |t 0 +
o0 - y " p 8.29 + 4.04
[ " p1 -150.1+ 1.0
5000 [~ ‘?1.4++
of \
-5000 |- Fﬂ*n,,*
10000 |- #ﬁ“ﬂ ]
; -
1EDDD_II|IIIIIII|IIIIIII|III|III|III|III
B0 -60 -40 -20 O 20 40 &0
diff
4000 ¥2 [ ndf 1453 /15
- + p0  —1.131+2.907
=0 +H+h11th p1 -69.14 + 0.67
t

=
T T I T T T I T T T I T T T I T T T I T
—_—

2000 1tHquJrHH+ -
) +H{‘“;
=4000
prd v v by bvrr brra bvr o bvn s b
B0 G0 -40 -20 0 20 40 6D
.'
: IE.'rl'ldf 7281715
4000 —
i |_H p0 0.2177 + 2.5452
:mnn:— p1 -81.83 £ 0.60
ol
~2000 - +H}r
—JH}DU_— “__
-6000 | |
_|||||||||||||||||||||_|_||||||||||||

80 -60 -40

di

.

bpmdeX

diff_bpmdeY

f - %2/ ndf 492.9/17 - T ¥2 / ndf 835/ 18
15000 - 15000 [~ {
; 41 PO 0.9662 +2.9437 - 1, | p0 11.41+ 522
10000 Hry 4 10000 [ +*H}+
N 4 p1 -68.54 + 0.25 [ b p1 -184+ 25
B T _ th-
2000 I~ -, 5000 h,
[II:_ \ 'D':_ K\\h
~5000 [~ 1“” ~5000 [~ s
x +‘h1+ - *‘*HPL
10000 'y 10000 - i
i i 5 H ]
: fr : o
150001’||||||||||||||||||||||||||||||||||||| 1EDDD_III|IIIIIIIII|III||||II|IIII|IIII|
=200 =150 =100 <50 L] 50 100 180 =3} =20 =1 L] 10 20 30
dift diff
: _ | 2 : _ | 2
15000 - _ ¥= [ ndf 488.2 /17 sooo | - ¥v¥/ndf  812.1/18
i 4y p0 1.044 + 2,632 S | p0 10.81+ 4.99
10000 [~ 1.H 4 10000 [~ } HL
i . p1 ~65.77 +0.23 : " p1 ~167.5+2.3
5000 [ ) 5000 [ ",
ll]:_ \ 'D:_ Q\\\h
~5000 |- , -5000 [ “
- " § o
i "‘h-l,,.+++ i H{F‘H'}
10000 — 1 10000 —
: iy : e
T 1111 I L1 11 | 1111 | 1111 | 1111 | 1111 | 1111 | 11 _I L1 | 1111 I L1 11 | L1 11 | L1 11 | L1 11 | L1 11 |
=200 =150 =100 =50 1] 50 100 180D =30 =20 =10 1] 10 20 a0

diff_bpmdeX

E.Irl'll:"' 817.2717
po 0.9177 + 3.1676
p1 17.52 +0.27
1000 | ]ll' il
- t
L a4
o + +
- 1
~1000 +h lll‘r
i ot
-2000 Jr -
_3000 £ _
_4000 |-
Toovoa v bvvr e b bovva b na boraa g

-200 =150 100 =50 0 50 100

diff_bpmdeX

w2 [ ndf 513717
po 0.9934 + 3.26R7
p1 9.096 + 0.281
- | %
o e =
| N
- 1
~2000 [~ ill’rjr’rtwfr H
=4000 _— H
R II|I]_LI|IIII|IIII|IIII|I

det vs d

150

[if f

“Bpm:

fit

diff_bpmdeY

4000

2000

= 2000

=4000

12/ ndf 7077118

0.4149 + 2.8139

1373 £1.2

p0
'*—M m
g T

9-.

6000

4000

2000

= 2000

=4000

= G000

=30 =20 =10 0 10 20 a0

iff _ bpmdeY

- ¥2 | ndf 208.9/18

" } w p0 1.489 + 2.564

) 1 —1488+1.1
L

-2{) =10

postpan.png

- x2/ndf  283.4/15
15000 - -
C — p0 5237 £ 3.425
10000 ,
' w | pt —63.64 +0.26
5000 "
0 :— \
~5000 |- E‘nt
_ o
- .
10000 | f
B -Hh_r
15000 t
=1 1 1 1 | 1 1 1 I 1 1 1 1 | I T | | 1 1 1 1 I |
300 -200  -100 0 100 200
diff _
- — 5
ool - x2/ndf  268.9/15
i iy 00 5.156 + 3.368
10000 W,
: . p1 —58.85 +0.25
5000 .
of \
~5000 | "*t‘ﬂ
- 4
10000 [ Hﬂh‘_
N b
15':'[]':' —_l L1 1 | L1 1 1 I L1 11 | L1 1 1 | L1 1 1 I_ |
300 -200  -100 0 100 200
diff _
&000 -
i . ¥/ ndf 107.2/15
4000 :— ) HM* pO —2.26 £ 2.79
oo |- - mﬂ pt 2521+ 0.21
ol
- 2000 N -F:_H-}# } -
_ il
~4000 :— ’.HH |
-6000 __I AN T T T T T O O A |_ !
300 -200 100 0 100 200
diff_
- T ¥2 / ndf 82.77 /15
6000 — !
F - ﬂ | p0  —1.594 + 2.331
a0 - _
: " by, | pt ~30.38 + 0.18
2000 - y,
of \
~2000 - Ty
. +'11ﬂ } )
~4000 w
-6000 [ H }
:l 1 1 1 | 1 1 1 I 1 1 1 1 | I T | | 1 1 1 1 I- |
300 -200  -100 0 100 200




%

diff_bpm4aX diff_bpmdaY diff_bpmdeX dlthpmgeY diff_bpm12X

3 %2  nd 1277116 - x2/ndf  12.91/15 e %2/ ndf 13.45/17 o 12 ndf 1215/ 18 %2 1 ndf 2033/15
1000 [ p0  0.6654 + 0.8857 e p0 0.584 + 0.887 1000 - po 0.6891+ 0.8939 1000 - _ p0  0.7257 +0.8977 p0 0.6785 + 0.8840
500 3 p1 -3.886 = 0.329 500 p1 -2.324 £ 0.216 p1 -0.7452 + 0.0692 B p1 -2.139 + 0.391 p1 0.01779 4 0.07295 _
5 | il : f Al ”F - o | T "
'_ ! ﬂ__ _ II“'""'"-l—-......’-H-I'_I_ : : - I:I_— _ i I'I-[I-++'I""'""-—"E"+
re aS usl D: . MIIIIIIIIIIM&III | E ﬂ}H{HIIII t I+ L |+ ﬂ__ MII'I_II'IP"’—‘»HIJIIII [ - of _ | IIII[IIII‘IIIM ||+#+I[|IIW ’ _ E I t I][
g_ y _ -500 :_ | I _ R Z_ ) : | II 500 :— I o Z_ -
i | - 500 |- _ Tl X
1000 |- - | -mnn:— - : I mm:_ _ I -0 - -
1500 - I ~1500 |- _ -1ooo s - I‘ i ~1500 |- __
I_IIIIIIIIIIIIIIIIIIII _IIIII_IIIIIIIIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII _IIIIII_IIIIIIIIIIIIIIIIIIIIIIIIIIII _IIIIIIIIIIIIIIIIIIIIIIIII_I
-40 =20 0 20 40 -80 <60 -40 <20 0 20 40 60 -200 =150 =100 <50 0 S0 100 150 =30 =20 =10 0 10 20 30 =300 =200 =100 L 100 200
diff_bpm4aX diff _bpmdaY diff _bpmdeX diff _bpmdeY diff _bpm12X
1500 - 72/ ndf 14.55 /16 - %2/ ndf 11.58 /15 ¥2 / ndf 14.17 /17 - | %2/ ndf 12.1/18 - %2/ ndf 22.93/15
B 1000 i = 1000 [ ]
1000 - p0 0.7507 + 0.8470 - PO 0.7007 * 0.8492 1o PO 0.8061+ 0.8571 ot - PO 0.7919 £ 0.8624 - ] po 0.749 = 0.846
i p1 -3.915 + 0.321 500 |- p1 ~2.691 = 0.211 <00 - p1 -0.751+ 0.068 500 |- pi ~2.929 + 0.381 500 - i p1  —0.1117 £0.0712
500 [ - i -
5 | il U S—— : Tl L P— b JIIII*W*—-MII I
5 | - A - _ - | . '
reg_asym_ds o | | wr i o I wr
. { N -500 |- _ i N
1000 |- 1 1000 C - I 1000 | _ I | ~1000 -
. N ~1000 |- i N
1500 [ I ~1500 . - 1500 _ ~1500 - _
I_IIIIIIIIIIIIIIIIIIII :IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII :IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII :IIIIIIIIIIIIIIIIIIIIIIIIII
-40 =20 0 20 40 -80 =60 40 =20 a 20 40 60 =200 =180 =100 =50 L 50 100 15D =30 =20 =10 L 10 20 30 =300 =200 =100 a 100 200
diff_bpm4aX diff_"bpm4aY diff _bpmdeX diff _bpmdeY diff_bpm12X
+2 / ndif 24.92 /16 - o2/ ndf 11.84 /15 mm: 2 [ ndf 21.95/17 i +2 / ndf 11.6/18 mm: %2 | ndf 19.65 / 15
— 1000 [~ -
1000 — . _ I i |
I p0  0.1569 = 0.8708 co0 - po 0.09384 + 0.87165 i p0 0.2837 £ 0.8766 i I p0  0.0765 +0.8784 i ] 1 p0  0.08301 + 0.87121
500 - p1 ~4.17 +0.31 I p1 ~2.337 + 0.206 500 — p1 -0.7325 + 0.0657 500 _ p1 -2.385 + 0.374 00T p1 ~0.1816 + 0.0689
: Al — W 7 : ' - | [ |
B { | o M ]d'IJ,I]"'"'--..-LHJ-I_}I} I i | H| _H_I - i I-I u IHI\ i
- i A ol ] i - y | o R —
reg asy usr u: IIILIIIIIIMIII |I| - -l I * - MJIIJ[IL#—--._*IIII I | u:— _ MIIII,# mI”IIIIII E i _ I h HIHII}
— — oo __ ‘| _| =500 _— con __ : ‘| so0 __
T 2 I -500 |- .
- T - I+ : -
~1000 [ I-I -0 ) ~1000 |- I U ~1000 ™ ) )
IR N N T N N N T T T [N TN T T [N T T N B _||I|||I|||I|||I|||I|||I|||I|||I||| T by b by byvvna by o aa L o by b e vy o b | :IIII_IIIIIIIIIIIIIIIIIIIIII
-40 =20 0 20 40 -80 -60 -40 =20 0 20 40 60 =200 =180 =100 <50 0 50 100 18D =30 =20 =10 0 10 20 30 =300 =200 =100 0 100 200
diff_bpm4aX diff_bpmd4aY diff_bpmd4eX diff_bpmdeY diff_bpm12X
- [ 1500 1500 - [ -
1500 |- 2 / ndf 25.94 /16 i %2 / ndf 11.81/ 15 - %2 1 ndf 19.78 /17 - 2 / ndf 12.63/ 18 : %2 { ndf 21.3/15
[ 1000 — - - [ i
1000 - pO 0.2451+ 0.8947 p0  0.1847 + 0.8950 1000 [ p0 0.4238 + 0.9034 1000 |- I p0 0.087 + 0.905 1000 = 1 p0 0.1183 = 0.8935
- p1 -4.856 + 0.328 o p1 -2.786 + 0.218 oo i p1 ~0.8643 + 0.0691 i - pi ~2.796 + 0.393 00 - p1 ~0.1602 + 0.0725
200 - [ , N - 500 I - |
; | III m b H{Ihﬁ#twjﬂﬂ I : " IIIII | | &HM | | IIII i
L - I [ | " 1 I N i K +
reg_asym_dsr | ) R L | S il
— — i ™ ~ 500 N | i - 7 B - - - 1
-500 - * - i -500 [~ I 500 |- I = N
- 1000 = B I i 1000 - _
1000 = - I - ) ~1000 - - -1000 [ . -
: i__ - B i E - I - __ T
1500 b= A 1 I 1 1 1 I 1 I 1 I 1 1 1 I 1 1 1 I 1 =1500 &= TIIIIJ_I_IIIIIIIIIIIIIIIIIII IIIIIIII =1 11 I 1 111 I 1 111 I 1111 I 1 11 I I 1 1 1 I I 111 II -1500 _I 1 1 1 I 11 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1

|I|||i;|||||||J_L||I|||I|||I|||I|||

run3342 000 regression reg maindet vs dif

=

-2{) =10 a0 -300 - 200 =100 (1] 100 200

" bpm-iit postpan.png




asym_usl

asym_dsl

asym_usr

asym_dsr

15000

10000

5000

=5000

10000

15000

50 -40 -30 -20 -10 0 10 20 30 40
diff_bpm4aX/um

15000

10000

5000

=5000

10000

15000

50 -40 30 =20 <10 O 10 20 30 40

diff_bpmdax/um
diff _

G000
4000

2000

=2000

-4000

o

~6000

50 -40 -30 -20 -10 O 10 20 30 40
diff_bpmdaX/um

8000

6000

4000

2000

=2000

=4000

~6000

8000

run3342 000 regression-asym main

15000

10000

5000

~5000

10000

15000

B0 60 -40 20 0 20 40 60
diff_bpmda¥ium

°1

15000

10000

5000

5000

10000

15000

=
IIIIIIIIIIIIIIIII|IIII|IIII|IIII|III

—Eﬂ -60 40 =20 1] 20 40 60
diff_bpmda¥/um

"-"1

6000

4000

2000

=2000

~4000

~6000

=
IIIIIIIIII|III|III|III|III|II

—Eﬂ -60 -40 =20 1] 20 40 60

diff_bpmda¥ium
diff

8000 "'f
6000
4000
2000

1]

=2000

=4000

~6000

8000

|III|III|III|III|II_|_|III|III|II

15000

10000

5000

~5000

10000

15000

=200 =150 =100 =50 1] a0 100 150

diff_bpmdeX/um
diff

15000

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

tova v ey by by beav s by by
-200 =150 =100 =50 0 50 100 150
diff_bpmdeXium

d

6000

P
E

4000

2000

= 2000

~4000

=~ 6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

prrrbvvrr bvvre bvrva brrrr b br g b
200 =180 =100 =50 1] 50 100 180
diff_bom4eX/um

6000
4000

2000

= 2000

=4000

=~ 6000

~8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

maindetvs diff ‘bpm:sca

15000

10000

5000

= 5000

10000

15000

AR EEENE NN NN NN N |}| L
=30 =20 =10 0 10 20 a0

diff_bom4eY/um
diff

15000

10000

5000

= 5000

10000

15000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

poa e by by v Loy g by g g |
-30 20 =10 0 10 20 30
diff_bpmde¥/um

diff_bpmdeY

G000

4000

2000

= 2000

=4000

= G000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

prr b bvves bvrra brrrr brrrr b ol
-30 20 =10 (1] 10 20 an
difi_bpmdaYium

diff_bpmdeY

6000

4000

2000

= 2000

=4000

= G000

=B000

=]
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

10

t postpan:png

15000

g

10000

5000

~5000

10000

15000

RN T T T T T T YT O B ] |
=200 =100 0 100 200

diff_bpm12X/um
diff

15000

:

10000

5000

=5000

10000

15000

=
IIIIIIIIIIIIIIIII|IIII|IIII|IIII|III

=200 =100 (1] 100 200

diff_bpm12X/um
diff _

6000

:

4000

2000

= 2000

~4000

= 6000

=
IIIIIIIIII|III|III|III|III|II

AN I T T I T T N N A
200 =100 (1] 100 200
diff_bom12Xium

:

diff
BO00

4000

2000

= 2000

=4000

= 6000

~8000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIII

tv v v b v P Py 1
=300 =200 =100 (1] 100 200
diff_bpm12X/um




reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

2000

1500

1000

500

=500

=1000

=1500

=2000

-2500

TI|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|H

50 -40 -30 -20 -10 © 10 20 30 40
diff_bpm4aX/um

91

EﬂDD

1500

1000

500

-500

=1000

=1500

=2000

-2500

TI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

50 -40 30 =20 <10 O 10 20 30 40
diff_bpmdax/um

d.
1500

1000

500

-500

=1000

=1500

=2000

—5ﬂ 40 -30 =20 10 0 10 20 30 40

diff_bpmdaX/um
diff

1500
1000
500
1]

=500

=1000

=1500

=2000

-2500 IIIIIIlIIIIlIII” III|IIII|IIH|IIII|IIII|H

run3342 000 regression-reg maindet-vs

2000

1500

1000

500

=500

=1000

=1500

=2000

-2500

v bvv b b b bvnn v 1y g
-80 -60 -40 =20 0 20 40 60

diff_bpmda¥ium
diff

2000

1500

1000

500

=500

=1000

=1500

=2000

-2500

-80 -60 -40 =20 1] 20 40 60

diff_bpmda¥/um
diff _

1500 f—

1000

500

=500

=1000

=1500

=2000

Lo vt vra bwra bvr s b v beaan by
80 B0 40 <20 1] 20 40 a0

diff_bpmda¥ium
dift

1500

1000

500

1]

~500

=1000

=1500

=2000

-2500 |II | II| 111 LLI I|II I|I II| 111 |II

2000

1500

1000

500

0

=500

=1000

=1500

= 2000

-2500

-200 -150 -100 -50 O 50 100 150
diff_bpmdeX/um

91

EDDD

1500

1000

500

0

-500

=1000

=1500

=2000

-2500

=200 =150 =100 =50 1] 50 100 150
diff_bpmdaX/um

1000

500

-500

=1000

=1500

2000 7 vy v b b bear s beraa by

=200 =180 =100 =50 1] 50 100 150

diff_bpmdeX/um
diff

diff_bpmdeY

2000
1500
1000

500

=500

=1000

=1500

= 2000

- 2500

30 -20 =10 0 10 20 30
diff_bom4eY/um

2000
1500
1000

500

-500

=1000

= 1500

= 2000

= 2500

=30 =20 =10 1] 10 20 30
diff_bpmdaY/um

diff_ Y

1500 f—

1000

500

-500

= 1000

=1500

= 2000

30 -20  -10 0 10 20 30
diff_bpmdeY/um

diff_ Y

n — - —

1500 f— 1500 —

1000 f— 1000 —

500 f— 500 —

_

wof b

~1000 - - g &k S ~1000 |-

-15003— .' -150nf—

~2000 f— - 2000 —
-2500 EI-||| LL|II |II II|I III|I L1 1 |III I|III I|II -2500 iill |II III 111 I|I 111 |II II| 111 I|I III|

~diff bpm-sc¢at postpan.pnge-

2000

1500

1000

500

=1

=500

=1000

=1500

= 2000

-2500

1 1 1 | 11 1 1 I 1 1 1 1 | | I T | | 111 1 I |
_200  -100 0 100 200
diff_bpm12X/um

:

2000

1500

1000

200

=1

-500

=1000

=1500

= 2000

-2500

=200 =100 (1] 100 200

diff_bpm12X/um
diff _

1500 f—

:

1000

500

=1

-500

=1000

=1500

-2000 AN I T T I T T N N A

~300 -200  -100 0 100 200
diff_bpm12X/um

1500

1000

500

500

=1000

=1500

= 2000

-2500 1 1 I| 1 1 1 1 II 1 1 1 | L1 1 I| 11 1 1 II

-300 - 200 =100 (1] 100 200
diff_bpm12X/um




